Unit 10 Objective 3 Remediation

Subtracting Polynomials

To subtract polynomials, you must distribute the subtraction sign to all of the terms in the parenthesis
and change the subtraction sign into an addition sign. Next, finish the problem as an addition problem
by combining like terms. Like terms are terms that have the same variable part and same exponent.

Example One

Simplify (4x — 8y +1) — (—x + 5y —9)

Distribute the subtraction sign to all of the terms in the parenthesis and change the subtraction sign
into an addition sign.

(4x — 8y + D(—)(—x + 5y —9)
(4x —8y+ 1)+ (+x -5y +9)
(4x+x)+(-8y—-5y)+(1+9)

Answer: 5x — 13y + 10

Example Two

Simplify (—2x2% + 3x — 5) — (3x% 4+ 5x — 2)

Distribute the subtraction sign to all of the terms in the parenthesis and change the subtraction sign
into an addition sign.

(=2x% +3x — 5(-)(Bx%2 + 5x — 2)
(=2x%2+3x—5)+ (—3x%2—-5x+2)
(=2x%2—=3x%)+ (Bx —5x) + (=5+2)

Answer: —5x%—2x—3
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